| Click to Close |

Parts List & Exploded Views Cooktops

LIOLF

Y
D
—h
=

-—
QOWoo~NOoOOOTPA,OWN -

WWWWNDNNDNDNNDNNNN-_22 =2 a2 a
WN 2 00CONOOAPRLPWON_LPOCOONOOOODRRWON -~

15” ELECTRIC FRYER COOKTOP PARTS LIST

Part #

802547
802554
804410
801392
800906
802577
730239
801380
800418
801885
801542
804222
804409
802546
801401
801400
802550
801877
806136
802572
805041
804220
801878
801384
804205
802580
805486
800246
801883
804410
804411
802548
804743

804555

Description

Box, Fryer Front

Transformer, Module

Harness, Module Power Supply w/Terminal Block
Valve, Manual Shut Off

Screw, 6-32 x 1/2” w/Lockwasher
Thermodisc, Fryer 350f

Screw, #8 X 3/8” Mod. Truss Hd
Box, Fryer Burner

#8-32 Hex Nut W/Lock Washer
RTD Module Main Temp

Screw, 8-18 x 3/8” Type B H/W/Hd
Triac, Steamer/Fryer/Girill

Baffle, Steamer/Fryer Heat
Insulation, Steamer/Fryer
Basket, Wire Fryer Large
Basket, Wire Fryer Small
Insulation, Module Element
Plate, Element Backing
Insulation, Steamer/Fryer Heater
Element, Steamer/Fryer

Pan, Weld Assy Fryer

Bracket, Steamer/Fryer, Rear
Fryer Lid, Module

Handle, Module Cover

Hanger, Fryer Basket

Glass, Fryer Assy

Control Assy, Fryer
Washer, Teflon .06 x .26 x .5”
RTD, Module Fill Sensor
Harness, Module Power Supply
Harness, Module Cover
Harness, Steamer Element
Power Cord Conduit, Module

Not Shown
Hold Down Clamp Hdw, Module

22



Click to Close

Cooktops Parts List & Exploded Views

LIOLF

15” ELECTRIC FRYER COOKTOP EXPLODED VIEW




	Button4: 


